
Solve each equa�on by factoring or by using the quadra�c formula.
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Solving Quadra�c Equa�ons

Name:

Date:

x2 +  15 x =–  56 7 x2 –  6 x +  3 = 3

10 x2 –  26 x =– 12  6 x2 –  18 x –  18 =  6

 x2 +  x –  20 =  2 x 2 x2 –  14 =  –  3 x

2 x2 –  22 x +  38 =–  10 15 x2 +  80 =  –  80 x

 x2 +  8 x =  –  15 10 x2 = 27 x –  18
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x2 +  15 x =–  56

–  8, –  7

7 x2 –  6 x +  3 = 3

, 06
7

10 x2 –  26 x =– 12

, 23
5

 6 x2 –  18 x –  18 =  6

4, –  1 

 x2 +  x –  20 =  2 x

5, –  4

2 x2 –  14 =  –  3 x

− , 27
2

2 x2 –  22 x +  38 =–  10

3, 8

15 x2 +  80 =  –  80 x

− , − 44
3

 x2 +  8 x =  –  15

− 5, − 3

10 x2 = 27 x –  18
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